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x S H
MEGL | 3 %E M1 B B[R IR IOV oo FT 7E M A FRGAE JEVE MRS | A Fn74E JLVE H RS | 28 Bk
M,/ m M,/ m %

1 [#—10 WAGE |[HERRIR—TH1424%1 5, 560, 000 6, 430, 000 15.6
TRk 1—14—11J

2 | FRHE—-1 R | T REXSENT 6 % 14 4, 620, 000 5, 100, 000 10. 4

3 | FHE—2 WA | TRHEX =FT 9% 4 3, 580, 000 4, 050, 000 13.1

4 |[TRHE—4 WA | TTHRHEREET T H1 0% 44 2,990, 000 3, 290, 000 10.0

5 | TH—3 HER | TREX &1 2% 10 2, 650, 000 3,010, 000 13.6

6 |H—6 RS |EXAARARATH36 7% 1 2, 650, 000 3, 000, 000 13.2
FTAAAR5—13—1]

7 |HE—4 HEl [EXEELNTE48 7% 2,200, 000 2, 470, 000 12.3
[RHL4—26—18]

8 A —1 HRE AR MERi =T H13%1 3 2, 040, 000 2, 360, 000 15.7
[#E=Ri3—13—1 31

9 |¥#—3 R |EXEMA T H4E2 1 2, 080, 000 2, 350, 000 13.0
A3 —15—8J

10 |#—9 R |HEXCERINTE 1%3 4 1, 920, 000 2, 190, 000 14. 1
Fma—5—161J

[} ES H
MEGL | 3 %E M1 B B (AR IR IOV oo FT 7E M A FRGAE JEVE MRS | A Fn74E JLVE H RS | 28 Bk
M,/ m M,/ m %

1 |5 —13 |[HERE |FRXEEZTH2EL 9 42,100, 000 46, 900, 000 11.4
ez 2 —6 — 7.1

2 |5 —14 |BEHE [PRXEBEANTH4A4EL 354 30, 000, 000 33, 000, 000 10.0
¢z 6 —8 — 3

3 |#k5—14 B |[HEXIEFIL=TH3 3%2 29, 000, 000 30, 600, 000 5.5

4 [FRE5S5—-1 AR | TYEEILON=T B 2 &4+ 27, 000, 000 27, 300, 000 1.1
o3 —3—11]

5 | TCHS5—2 4 |HAHE |[TREXKFIT—THSEI 9 25, 700, 000 26, 000, 000 1.2
[RFEHTLI—8—11]

6 |dt5—2 KT | RIKTTACX RET 2 0 7 %45+ 23,900, 000 24, 500, 000 2.5
[RIET4—2 0]

7 |hk5—3 KBJF | Rk R K= AT 4 6 % 1 44 22,400, 000 24, 100, 000 7.6
=AM 7 —2]

8 |FE5—4 WAGE e EEE T H18%&2 21, 400, 000 22,300, 000 4.2
[E#HEL—18—2]

9 |FME5—10 [HHE |FrEsE —THS&E 244 19, 400, 000 21, 500, 000 10.8
[HrfE3—5—4]

10 [FFFf5—1 FHE A NETTHEABRITHEH2 70 1 %4+ 19, 600, 000 19, 700, 000 0.5
48B3 —28—12]
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MEGL | 3 %E M1 B B[R IR IOV oo FT 7E M A FRGAE JEVE MRS | A Fn74E JLVE H RS | 28 Bk
M,/ m M,/ m %

1 [KH9—-3 RS | REHXEm - TH7E1 778, 000 845, 000 8.6
M2 —1—2]

2 |9 —1 RS [EXERM AT H 4% 4 625, 000 675, 000 8.0
g5 —4—361]

3 [{LHE9—3 WHER NLERRXREZTHOIE4 2 556, 000 649, 000 16.7
HE2—-—14—19)J

4 [KH9—2 R | KEXEfME=THI1 3%3 568, 000 611,000 7.6
FEfEs—1—111J

5 [JLHEI9—1 HRH NIEXHR—THG6 31%1 64 475, 000 550, 000 15.8
FHrib1—13—9]

6 | KH9—1 HRE | KERREE _TH7E27 380, 000 482, 000 26. 8
Rkl 2—7—161

7T ONEA)II9 —1 | EEHES (LXK EREIT =T H 6% 2 5 406, 000 473, 000 16.5
FEs#EMT 3 —6 — 3]

8 NLH9—2 WAGES [TIREEFALZIUTHE L 2% 1 2 380, 000 450, 000 18.4
FErAsgH4—3—171

9 |dt9—1 A |[dEXIEM T H 3 3&F 14 382, 000 417, 000 9.2
2 —33—111J

10 |9 —2 TR (MM E1 TE 7% 14+ 365, 000 375, 000 2.7

4 it bas
MEGL | 3 %E M1 B B (AR IR IOV oo FT 7E M A FRGAE JEVE MRS | A Fn74E JLVE H RS | 28 Bk
M,/ m M,/ m %

1 |5 —13 |[HERE |FRXEEZTH2EL 9 42,100, 000 46, 900, 000 11.4
ez 2 —6 — 7.1

2 |5 —14 |BEHE [PRXEBEANTH4A4EL 354 30, 000, 000 33, 000, 000 10.0
¢z 6 —8 — 3

3 |#k5—14 B |[HEXIEFIL=TH3 3%2 29, 000, 000 30, 600, 000 5.5

4 [FRE5S5—-1 AR | TYEEILON=T B 2 &4+ 27, 000, 000 27, 300, 000 1.1
o3 —3—11]

5 | TCHS5—2 4 |HAHE |[TREXKFIT—THSEI 9 25, 700, 000 26, 000, 000 1.2
[RFEHTLI—8—11]

6 |dt5—2 KT | RIKTTACX RET 2 0 7 %45+ 23,900, 000 24, 500, 000 2.5
[RIET4—2 0]

7 |hk5—3 KBJF | Rk R K= AT 4 6 % 1 44 22,400, 000 24, 100, 000 7.6
=AM 7 —2]

8 |FE5—4 WAGE e EEE T H18%&2 21, 400, 000 22,300, 000 4.2
[E#HEL—18—2]

9 |FME5—10 [HHE |FrEsE —THS&E 244 19, 400, 000 21, 500, 000 10.8
[HrfE3—5—4]

10 [FFFf5—1 FHE A NETTHEABRITHEH2 70 1 %4+ 19, 600, 000 19, 700, 000 0.5

48B3 —28—12]




